

$$2\frac{3}{4} - 1\frac{1}{8}$$

1) Change any mixed numbers to improper fractions. $\frac{11}{4} - \frac{9}{8}$

2) Convert both fractions to have the same denominator. $\frac{11}{4} \times 2 = \frac{22}{8} - \frac{9}{8}$

3) Subtract the second numerator from the first. $\frac{22}{8} - \frac{9}{8} = \frac{13}{8}$

4) Change any improper fractions back to mixed numbers. $\frac{13}{8} = 1\frac{5}{8}$

5) Simplify the answer if you can.

$$1) \quad 8\frac{1}{2} - 2\frac{8}{10} =$$

$$2) \quad 5\frac{1}{3} - 4\frac{1}{2} =$$

$$3) \quad 7\frac{2}{4} - 3\frac{7}{10} =$$

$$4) \quad 7\frac{1}{5} - 3\frac{3}{4} =$$

$$5) \quad 5\frac{1}{10} - 4\frac{1}{5} =$$

$$6) \quad 9\frac{1}{5} - 1\frac{4}{10} =$$

$$7) \quad 9\frac{1}{2} - 4\frac{3}{5} =$$

$$8) \quad 5\frac{1}{4} - 3\frac{2}{3} =$$

$$2\frac{3}{4} - 1\frac{1}{8}$$

1) Change any mixed numbers to improper fractions $\frac{11}{4} - \frac{9}{8}$

2) Convert both fractions to have the same denominator. $\frac{11}{4} \times 2 = \frac{22}{8} - \frac{9}{8}$

3) Subtract the second numerator from the first. $\frac{22}{8} - \frac{9}{8} = \frac{13}{8}$

4) Change any improper fractions back to mixed numbers. $\frac{13}{8} = 1\frac{5}{8}$

5) Simplify the answer if you can.

$$1) \quad 5\frac{1}{10} - 3\frac{1}{2} =$$

$$5) \quad 6\frac{1}{4} - 2\frac{2}{3} =$$

$$2) \quad 6\frac{2}{10} - 2\frac{1}{2} =$$

$$6) \quad 6\frac{1}{4} - 4\frac{1}{2} =$$

$$3) \quad 6\frac{1}{4} - 4\frac{3}{5} =$$

$$7) \quad 6\frac{1}{5} - 2\frac{2}{4} =$$

$$4) \quad 9\frac{2}{3} - 4\frac{3}{4} =$$

$$8) \quad 8\frac{1}{3} - 1\frac{3}{4} =$$

$$2\frac{3}{4} - 1\frac{1}{8}$$

1) Change any mixed numbers to improper fractions. $\frac{11}{4} - \frac{9}{8}$

2) Convert both fractions to have the same denominator. $\frac{11}{4} \times 2 = \frac{22}{8} - \frac{9}{8}$

3) Subtract the second numerator from the first. $\frac{22}{8} - \frac{9}{8} = \frac{13}{8}$

4) Change any improper fractions back to mixed numbers. $\frac{13}{8} = 1\frac{5}{8}$

5) Simplify the answer if you can.

$$1) \quad 8\frac{1}{3} - 1\frac{4}{5} =$$

$$5) \quad 6\frac{1}{2} - 1\frac{8}{10} =$$

$$2) \quad 9\frac{1}{5} - 3\frac{3}{10} =$$

$$6) \quad 9\frac{1}{3} - 2\frac{7}{10} =$$

$$3) \quad 8\frac{1}{3} - 1\frac{3}{5} =$$

$$7) \quad 8\frac{1}{3} - 2\frac{4}{5} =$$

$$4) \quad 9\frac{1}{3} - 2\frac{1}{2} =$$

$$8) \quad 6\frac{2}{5} - 4\frac{8}{10} =$$

$$2\frac{3}{4} - 1\frac{1}{8}$$

1) Change any mixed numbers to improper fractions. $\frac{11}{4} - \frac{9}{8}$

2) Convert both fractions to have the same denominator. $\frac{11}{4} \times 2 = \frac{22}{8} - \frac{9}{8}$

3) Subtract the second numerator from the first. $\frac{22}{8} - \frac{9}{8} = \frac{13}{8}$

4) Change any improper fractions back to mixed numbers. $\frac{13}{8} = 1\frac{5}{8}$

5) Simplify the answer if you can.

$$1) \quad 7\frac{4}{10} - 4\frac{1}{2} =$$

$$5) \quad 9\frac{1}{2} - 4\frac{3}{5} =$$

$$2) \quad 7\frac{1}{2} - 3\frac{3}{5} =$$

$$6) \quad 5\frac{1}{4} - 4\frac{1}{3} =$$

$$3) \quad 8\frac{2}{4} - 2\frac{7}{10} =$$

$$7) \quad 6\frac{1}{2} - 2\frac{6}{10} =$$

$$4) \quad 6\frac{3}{4} - 3\frac{8}{10} =$$

$$8) \quad 7\frac{1}{2} - 1\frac{2}{3} =$$

Subtracting fractions– questions 13 and 16

Sheet 1

$$1) \quad 8\frac{1}{2} - 2\frac{8}{10} = 5\frac{7}{10}$$

$$2) \quad 5\frac{1}{3} - 4\frac{1}{2} = \frac{5}{6}$$

$$3) \quad 7\frac{2}{4} - 3\frac{7}{10} = 3\frac{16}{20} = 3\frac{4}{5}$$

$$4) \quad 7\frac{1}{5} - 3\frac{3}{4} = 3\frac{9}{20}$$

$$5) \quad 5\frac{1}{10} - 4\frac{1}{5} = \frac{9}{10}$$

$$6) \quad 9\frac{1}{5} - 1\frac{4}{10} = 7\frac{8}{10} = 7\frac{4}{5}$$

$$7) \quad 9\frac{1}{2} - 4\frac{3}{5} = 4\frac{9}{10}$$

$$8) \quad 5\frac{1}{4} - 3\frac{2}{3} = 1\frac{7}{12}$$

Sheet 2

$$1) \quad 5\frac{1}{10} - 3\frac{1}{2} = 1\frac{6}{10} = 1\frac{3}{5}$$

$$2) \quad 6\frac{2}{10} - 2\frac{1}{2} = 3\frac{7}{10}$$

$$3) \quad 6\frac{1}{4} - 4\frac{3}{5} = 1\frac{13}{20}$$

$$4) \quad 9\frac{2}{3} - 4\frac{3}{4} = 4\frac{11}{12}$$

$$5) \quad 6\frac{1}{4} - 2\frac{2}{3} = 3\frac{7}{12}$$

$$6) \quad 6\frac{1}{4} - 4\frac{1}{2} = 1\frac{3}{4}$$

$$7) \quad 6\frac{1}{5} - 2\frac{2}{4} = 3\frac{14}{20} = 3\frac{7}{10}$$

$$8) \quad 8\frac{1}{3} - 1\frac{3}{4} = 6\frac{7}{12}$$

Subtracting fractions– questions 13 and 16

Sheet 3

$$1) \quad 8\frac{1}{3} - 1\frac{4}{5} = 6\frac{8}{15}$$

$$2) \quad 9\frac{1}{5} - 3\frac{3}{10} = 5\frac{9}{10}$$

$$3) \quad 8\frac{1}{3} - 1\frac{3}{5} = 6\frac{11}{15}$$

$$4) \quad 9\frac{1}{3} - 2\frac{1}{2} = 6\frac{5}{6}$$

$$5) \quad 6\frac{1}{2} - 1\frac{8}{10} = 4\frac{7}{10}$$

$$6) \quad 9\frac{1}{3} - 2\frac{7}{10} = 6\frac{19}{30}$$

$$7) \quad 8\frac{1}{3} - 2\frac{4}{5} = 5\frac{8}{15}$$

$$8) \quad 6\frac{2}{5} - 4\frac{8}{10} = 1\frac{6}{10} = 1\frac{3}{5}$$

Sheet 4

$$1) \quad 7\frac{4}{10} - 4\frac{1}{2} = 2\frac{9}{10}$$

$$2) \quad 7\frac{1}{2} - 3\frac{3}{5} = 3\frac{9}{10}$$

$$3) \quad 8\frac{2}{4} - 2\frac{7}{10} = 5\frac{16}{20} = 5\frac{4}{5}$$

$$4) \quad 6\frac{3}{4} - 3\frac{8}{10} = 2\frac{19}{20}$$

$$5) \quad 9\frac{1}{2} - 4\frac{3}{5} = 4\frac{9}{10}$$

$$6) \quad 5\frac{1}{4} - 4\frac{1}{3} = \frac{11}{12}$$

$$7) \quad 6\frac{1}{2} - 2\frac{6}{10} = 3\frac{9}{10}$$

$$8) \quad 7\frac{1}{2} - 1\frac{2}{3} = 5\frac{5}{6}$$